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Chapter 3 Review #2 (proportions)
Solve AND CHECK each proportion
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Solve the percent problem using either PROPORTION METHOD or EQUATION METHOD.
Clearly show work!! Round to tenths (i.e. xx.x)  Circle answer and include units.

5) What percent of 25 inches is 103 inches? 6) What is 400% of 39 minutes?
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7) 40% of what is $37? 8) 2% of what is 101 minutes?

Ho 37 Jd¥=3% 2 _ 1ol 4o .02 X=l0l
oo T x ¢ J00 © X =

X—'—B:’r(i%)%‘w X= loo (1) = 9

e (3= 5 os0_maires

9) What percent of 81 ft is 68 ft?
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BONUS: Solve the percent problem USING THE EQUATION METHOD.

10) 5% of what is 15 grams? 11) What percent of 40 inches is 36 inches?

EQ. 0:05 «X = IS EQ: P.4o = 36
©. 05 ©.0% qo ‘4o

N

Write the correct ratio:

12) Do book problems - pg 166 #'s 45, 47, 49 (do on separate paper)

Word problem. Clearly show work -- define your variable, label your ratios/proportions, and
answer in a sentence.

13) Do Chapter 3 Review problems - pg 195 #'s 44, 51, 52 ( do on separate paper - answers on my
website)
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